N = 0l & At & M A

E A AL &
MBS 84
AsHED 2y CERED
= - — SHE]|
CHB G (BN) - HRAMY - BES Ol &k o8 il HlnE2
AR A 1,573,966 1,425,747 148,219
= 54 121,004 113,974 7,030
SH=2 232 121,004 113,974 7,030
9 2 29 121,004 113,974 7,030
201 Let24dy] 96,564 84,934 11,630
01 At 2teltl 96,564 84,934 11,630
< YBt=ZH|l > 0
o HAXN 2SIF A2F A
300,000& = 1538 4,500
o MEXSLH 2F 2 WEH
55,000& = 1101 = 23l 1,210
o 224 MEES FYH
200,000& * 58 « 43| 4,000
o MSA4E =4l 600,000 * 5& 3,000
o ROl SX E=Hl  200,000& * 123 2,400
o RO A2F 2Ll
100,000& * 12&8 1,200
o ROYNI AEHE ZHALAE F=H|
600,000& « 2CH 1,200
o SOOI YAAAY WHYI
660,000& = 2CH 1,320
<2d+dg > 0
o MEISUH AN =g
50,000& * 63 = * 200Al 2t 60,000
o XNStHMSAE AM2ZH 28X =2
400,000 = 2 = 12& 9,600
< =l > 0
o 2AYR FA 7,000 * 7% x 166 8,134
202 oddl 9,940 9,940 0
01 =i 4 1l 9,940 9,940 0
o 2IEYR FH 20,000 = 7 = 71 9,940
307 21201 A 14,000 14,000 0
05 RIZt2IEt = 14,000 14,000 0
N ET PN --1-3-
700,000& * 5 * 42| 14,000
405 TtHabF S 500 5,100 A 4,600
01 AL EFH S 500 5,100 A 4,600
o WA Q02 FYHl 500,000& = 1CH 500
tAIE S X2tel 267,866 224,607 43,259
= FA2el 267,866 224,607 43,259
42 A& 267,866 224,607 43,259
101 @124l 27,463 11,904 15,559
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2AMd: 2SAEAE A
M ZIAE X2l
el A8 sA2el (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
03 RIAHAZ2 B+ 300 300 0
o HARQA RS 100,000& » 3% * 13/ 300
04 JIZtHZ2XNHESE S+ 27,163 11,604 15,559
o ZZAC(SLYR) 76,8008 * 49 x 15Y 4,608
o WARHA S(SBAR)
76,8002 * 4% * 202 6, 144
o HA Y BAZY A=Y
5,000& = 1% = 300 13,500
o 40 BEE= 2,911
- xZzel 4,608,000 * 12% 553
-ti==234 S 6,144,000& * 12% 738
-84 S 13,500,000& * 12% 1,620
201 LB-2d| 121,803 106,803 15,000
01 At 22l 44,513 29,513 15,000
< LBh=2Hl > 0
o X HFA(3MA)
12,500& » 258& * 13l 3,225
o 23 HFA(4MA) 8,000 * 258 * 23] 4,128
o JIH&H A =2 200,000& * 13l 200
o AYUEE HUAA(SMHA)
5,000,000& * 13l 5,000
o YAALS(6IM2L) 1,200,000& * 53| 6,000
o &I ot@Mae HlH=+=2(6012)
150,000& = 604 * 128 10,800
o Agordae A (3MA)
800,000& = 12& 9,600
o HHAESAZ HItAE2L =2
150,000& * 12& 1,800
< HsH > 0
o AHs I orM3t 100,000& » 49H 400
< =Edl > 0
o ANdgR =& 7,000& * 3% x 160 3,360
02 =224l 77,290 77,290 0
<3S ZLAHAM > 0
o Ag HMI, AEE S 3l
250,000& * 13l 250
<dHdzHl > 0
o Bay L WU AZHI(3ML)
1,390& * 9,000 =* 43 50,040
< AMEHUISXH > 0
o A8 wX2e 2,000,000& * 103l 20,000
= JIA, &8Il sl
1,000,000& * 73l 7,000
202 o4dl 3,600 3,600 0
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2AN: SEAI & ALE A
PRSI SIAIE KX 22l
&S AEE FX2a (9 ® =)
- _ _ RE]
- B2 . a2 (3H) - HEAY - B A= %Eﬁ HR=2
01 2L Hl 3,600 3,600 0
o ANEYR F&X 20,000& = 39 x 60 3,600
206 M = Hl 16,000 16,000 0
01 =4l 16,000 16,000 0
o Ad F=Hzel XM 1,000,000& * 53| 5,000
o MI| - g - JIAHAEYl KHIH
192,300& * 135 * 23] 5,000
o HUADE & 22EZE(AZ,0HAHES S)
750,000 * 43| 3,000
o XAXNM(s, HE )
1,000,000 * 33| 3,000
401 AlEHIZL £ 0HY| 91,000 86,300 4,700
01 Al&H| 91,000 86,300 4,700
o HAE S TFANE HES
5,000,000& = 33 15,000
o AlY-2 HAEH 10,000,000&¢ * 13| 10,000
o L& MIIAIE A 7,500,000& = 23| 15,000
o Wit ZXAH| &4 34,000
- -t 2 HA 8,000,000& * 13| 8,000
- 2y, WHE)] A2 4,300,000& * 2CH 8,600
- 2XJ|H 24 A 1,500,000& * 6CH 9,000
- dEE A Z2H HEa
70,0003 * 60CH » 23] 8,400
o AR S €3l $MEY
3,500,000& * 23| 7,000
o XAL NN 5,000,000& * 23] 10,000
405 XHAHFI S HI 8,000 0 8,000
01 AL 2 ZF S| 8,000 0 8,000
o HLAA L 32X EE E2 7Y
8,000,000& = 1CH 8,000
stz & 296,564 331,839 N 35,275
Ssld=3gl2 29 22 296,564 331,839 N 35,275
2stils 29 2 =29 D18 296,564 331,839 N 35,275
101 e1214| 6,048 5,743 305
04 J|12ZtHIZ22NEES 6,048 5,743 305
o ZOZE Z(NE L oL S)
45,000& * 49 x 303 5,400
o 4EEg = 5,400,000 * 12% 648
201 LBt 70,156 39,056 31,100
01 AP 22| H| 59,656 29,056 30,600
< det=ZH| > 0
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2N

23t
HE: 2 S
23

ool 2E0EEB 29 e CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 22 2F ALZF £
400,000& » 103 4,000
o ZHMS IEDIII ===  8,000& * 123 96
o 24 2 J3 22 M| 45,900
- MEHXI(A4) 200 * 1,00008 = 363l 7,200
- ZIAEH(2E) 5,000& = 5004 = 363l 9,000
- @5 55,000& * 15042 » 362 29,700
<28=E > 0
o 230z T2 23 LAY
70,000 * 22 & « 60Al 2 8,400
< S EHl > 0
o ZUER U 205 2HALEA
7,000& * 28 * 90 1,260
02 2324l 10,500 10,000 500
< 3SESIZAHAM > 0
o =250l 2HAE 3
3,000,000 * 13l 3,000
o RUAE 88, =& 3l
300,000& = 13l 300
< AM&EEUIsXY > 0
o 202 ZHAH 72
300,000& = 12& 3,600
o 202 SHAE 72
300,000& = 12& 3,600
202 oddl 2,960 2,640 320
01 = LH o4 1l 2,960 2,640 320
o BoEE U D 2YYL =X
20,0003 = 2% = 74 2,960
203 R =&t 3,000 3,000 0
03 A F=XH R =AY 3,000 3,000 0
o RHALAMABBAL X
250,000& ~ 12& 3,000
206 M= Hl 30,400 13,400 17,000
01 =4l 30,400 13,400 17,000
o 20a2 LUEH 4225 2¢
500,000& = 5& = 10& 25,000
o 232 SHY 01013 2EX
5,000& = 404 = 108 » 102 2,000
o 232 SHF 01013 AH0IE +
50,000& = 4Z = 100K 2,000
o Tz HE gdoZ 3¢ 700,000& * 2H 1,400
301 et a =z 172,000 178,000 A 6,000
09 &AL HI B A S 172,000 178,000 A 6,000
o Zstis J8a3d 5,000,000& * 143l 70,000
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2N

23t
HE: 2 S
23

ool 2sizsE =g 2el (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o 24E Jlgsd 10,000,000& =* 23] 20,000
o N2 ZXNAAMNY EXEZ(Z2HI]260%
2X) 10,000,000& =* 43| 40,000
o HetaY 3,500,000& = 123] 42,000
405 Ko SHI 12,000 4,000 8,000
01 MM =S FSHI 12,000 4,000 8,000
o HBHHE H#HAHIS ¢ 300,000& = 204 6,000
o 23 s 2401013 +L
1,200,000 = 5CH 6,000
SSTAS 5 L 29 561,383 441,123 120,260
TEEAS 2 - 22 374,187 272,149 102,038
TANFY & 22 169,705 148,400 21,305
101 2121 4| 4,815 0 4,815
04 JIZtHI22NSE S 4,815 0 4,815
o J|2ZMZEXNEE L
45,0008 = 18 = 100L 4,500
o B8 & 4,500,000& * 7% 315
201 Bt A H| 21,790 19,700 2,090
01 At 2t2l ] 20,860 18,220 2,640
< gBt=ZHl > 0
o |2tz P2 25,0008 = 105 * 12& 3,000
o NEIRSZ 3,960
- %X 18,000& * 105 x 12& 2,160
- XX 15,000& * 108 » 12& 1,800
o JHIIE U=z2E 300,000& = hE 1,500
o HMEH ARE F¢ 300,000& * 5& 1,500
o FTHATANESEY S ELZENME
2,000& = 1,5000H 3,000
o T NZ0IZEU AICIZ 3,000,000& = 14! 3,000
< 2l > 0
o ENZ 92 FX 7,000 * 4% * 175Y 4,900
02 3524t 930 1,480 A 550
< 3S3LSBYLAA > 0
o DHIYAHA OIS 40,0003 * 12& 480
o T A& 3l 150,000& * 3 2 450
202 044 5,600 7,200 A 1,600
01 2L Y| 5,600 7,200 A 1,600
o TR =X 20,000 * 49 = 70 5,600
206 M = Hl 11,000 0
01 24l 11,000 0
o RFID B 1,000& = 9,0000H 9,000

- 547 -




2N SSAEANE A
B ZBCHD HE L 29
Sl PEEAHB 29 - 2e (B9 ®R)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
o ENEH2ES 400,000& = 58 2,000
207 A SO 4| 9,000 8,500 500
01 A2 E 49| 9,000 8,500 500
o X2 MARC DB =524 1,000& = 9,000 9,000
405 XHoHFE S| 117,500 102,000 15,500
01 Mt =S FSHI 21,500 6,000 15,500
o Xz al AMIt7¢e 1,000,000& * 5% 5,000
o I A=) 7,000,000& * 1CH 7,000
o AMNEZDI| 8,000,000& * 1CH 8,000
o T ANBHLE 1,500,000& = 1CH 1,500
02 &AM 7bl 96,000 96,000 0
o ZEEZAMNE AP 12,500& * 4,800 60,000
o YT A HISA(3D,0VD, & XHE)
40,0008 * 4008 16,000
o el EAHF7Y 12,500& = 1,600 20,000
Marze] & OXNENzA 29 179,982 101,249 78,733
201 LEt2 Y| 44,001 40,701 3,300
01 A2 22| 8l 7,835 7,835 0
< det=ZH| > 0
o HOoIH#HEZ HolZ 22 60,0008 * 204 1,200
o 0lE2XE S/W2L(My office)
230,000 * 105 2,300
o 0|22 SMNRY () 120,000& * 20= 2,400
o 0|SXE S/NRLY (LAl 38,700 * 50 1,935
02 332494l 36,166 32,866 3,300
< SSaLAHA > 0
o ZETAHNE 22 SHFHE OIE=
1,006,400& = 12& 12,077
o (AN ,S0E=AM2 SAFA
548,850 * 23| « 12& 13,173
o ZETZANZ ARY SHF A
61,600& = 334 = 128 2,218
< A& HEHIKXH > 0
o MAHEH | Al 50,000& * 58 * 63| 1,500
o FESHLEH FAH 35,813,000& * 8% 2,866
o SgMAA UPSL A 4,331,800& * 14 4,332
207 A O | 120,981 51,574 69,407
02 & AHJH EHH] 120,981 51,574 69,407
o SETANMZ ABHEH SN2
63,858,500& * 10% 6,386
o TET AN (2, 22) UWEKIA HHl X
24 115,981,860 * 8% 9,279
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EX: S3AIEAISE A
Hu: ZTCHB HE Y 29
o9 PN 29 - e CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o SE=HOXN L INUBEES FRAES
39,360,280 * 12% 4,724
o AHES & Z2DAH SAES
33,830,000& * 10% 3,383
o WHAAIAE L HERIA PC RAES
72,653,000 * 10% 7,266
o ES8ZANAHA & EHH KBS
2,929,200 * 14l 2,930
o T A EEX&cAd (22, 22 DBMS)
SXE 3,256,660 * 14l 3,257
o DHY THBAAY STLL
9,000,000 * 12% 1,080
o 2 (AN, B0I)EAS USSAAE X
g 143,053,600 * 10% 14,306
o PYCTHB USHALY R4
234,740,000 * 4% 9,390
o Z03I2 SAHMUMAIAY SXE=
18,000,000 = 12% 2,160
o 2032 EHOXN SXNEx
16,200,000 = 15% 2,430
o HiO|lHA YUAAIAE = 400,0008 * 3= 1,200
o RHZRI ABANAY PE
19,800,000 = 14! 19,800
o SR(MN, BONTHB DHIY AAY 2=
9,000,000& = 24! 18,000
o 2O0IE £2H RH(2D 1, 22 2)
3,630,000 = 34! 10,890
o BT A ANSIEH Ld01E
4.500,000& = 14! 4,500
405 KHoHFE S HI 15,000 8,974 6,026
01 XA 2B F S| 15,000 8,974 6,026
o 0|28 =E&U|I(PC,2LIH S) WAl
1,500,000 = 10CH 15,000
2stuaesd 24,500 22,500 2,000
201 gEt24A Y| 24,500 22,500 2,000
01 AP 22| d| 24,500 22,500 2,000
< B2 H| > 0
o AR, SAHAYY A EE2 M
500,000& * 53] 2,500
< YLE > 0
o Z3twal 2AIEE
50,000 * 112X = 40A| 2+ 22,000
HEAHZ 89 22 96,862 82,987 13,875
N & EFFY 229 22 88,862 78,987 9,875
101 124 H| 21,400 18,171 3,229
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A 23AIE A A
Hu: ZTCHB HE Y 29
S HdASHZ 29 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
4 D122 E2XREES 21,400 18,171 3,229
o OIEX L THUS By Qe
45,0003 = 1% = 312¢ 14,040
o NZHH 22X (Ea) o2
5,630% * 3AI2+ = 300 5,067
o AHEE=E 19,107,000& * 12% 2,293
201 Let249] 9,814 7,296 2,518
01 At 2teltl 9,814 7,296 2,518
< YEt=2Hl > 0
o FIIvdE P 100,000& * 123 1,200
o NEIE2 1,584
- 32X 18,000& * 45 = 12& 864
- XX 15,0008 * 45 * 128 720
o IJUNE YSEEE S 300,000& * 55 1,500
o TAE HAEE S 300,000& = 5& 1,500
o ZHEH S=FES EFSMH
2,000& = 1,0008 2,000
< SEH|l > 0
o DA PR FXA 7,000&3 * 2% = 145¢ 2,030
202 (4 Hl 2,400 0 2,400
01 = LH 4 b 2,400 0 2,400
o TAZ PR F& 20,0003 = 2% = 60 2,400
206 M= Hl 4,000 3,000 1,000
01 M= 4l 4,000 3,000 1,000
© RFID B2 1,000& * 3,00004 3,000
o TAECES 250,000& * 43 1,000
207 & O &l 4,000 4,000 0
01 2284 4,000 4,000 0
o &M MARCEE E9H| 1,000& = 4,000 4,000
301 et A= 14,000 14,000 0
09 &AL HI B &S 14,000 14,000 0
o BY USAX &8 U244
10,0003 * 4% = 200 8,000
o FY UVFEBAMK S AH2Y
15,000& = 4% = 100 6,000
307 glz2+ol & 11,520 11,520 0
05 RIZHRIEF 3 11,520 11,520 0
o Ot g8 Xizd dHsEXR
960,000& = 12& 11,520
405 RHoHF S HI 21,728 21,000 728
01 AL EZFH S 1,728 1,000 728
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2N
X ZH -
L= B

el

=
i

2

o oEoliza SaY NPy
432,0008 * 4% 1,728
02 S ARyl 20,000 20,000 0
o YU N 7 12,5008 * 1,600% 20,000
sdna 29 8,000 4,000 4,000
201 2Ler2 A H| 8,000 4,000 4,000
01 At 22l bl 8,000 4,000 4,000
<2gsy > 0
o 23IA 2Y ALY
50,0008 * 423 * 40AI2} 8,000
SHE 2y e 90,334 85,987 4,347
OSAHZ SN 2 227 29 22| 82,334 81,987 347
101 Q1248 21,400 18, 171 3,229
VPR EESTETP 21,400 18,171 3,229
S OBTOU ¥ THUE Uy ol
45,0008 * 1% * 3122 14,040
o NZHH 22T("2) o2
6302 * 3AI2+ * 3002 5,067
o aeER 19,107,000 * 12% 2,293
201 Lyt FH| 11,014 10,296 718
01 Ak 22l 11,014 7,296 3,718
< YprasH > 0
o NRBE 20,0002 * 20& * 33 1,200
o HI|AWS PSR 10,0008 * 105 + 128 1,200
o Neqns2 1,584
- E%X 18,0008 * 4% * 128 864
- T 15,0008 * 43 * 122 720
o CAHB HAUNC Y28 S
300,0008 * 5% 1,500
o BABE S 300,0008 * 5% 1,500
o ZHEZN S=2FS 222 M
2,0002! * 1,000% 2,000
<2zl > 0
o THE AP A 7,008 * 29 1452 2,030
202 01t 2,400 0 2,400
01 2Uholdl 2,400 0 2,400
o THR YL EX 20,0008 + 2% + 602 2,400
206 T & 3,000 3,000 0
01 2 bl 3,000 3,000 0
o RFID E§1 7 5002 * 4,0000 2,000
o TNN2SE 250,0008 * 4% 1,000
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EX: S3AIEAISE A
Hu: ZTCHB HE Y 29
Sl S0lSHE 29 2 CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
207 A3 IH | 4,000 4,000 0
01 g AH| 4,000 4,000 0
o &N MARCH=F S<H| 1,000 = 4,000 4,000
301 et A= 9,000 14,000 A5,000
09 #HAIAHI BEAZ 9,000 14,000 A5,000
o Ha T2ASAIA SSAH EA
10,000€ = 2% * 250 5,000
o FU TSAIA SSAH EA
20,000 = 2%« 100& 4,000
307 QI2t0| ™ 11,520 11,520 0
05 QIZtREZ 11,520 11,520 0]
o 02 UTMRY HUIBY
960,000& ~ 12€ 11,520
405 RHo&HFE S HI 20,000 21,000 A 1,000
02 & A 22| 20,000 20,000 0
o ABIE A 2¢ 12,500€ = 1,600 20,000
23tna 29 8,000 4,000 4,000
201 et 9| 8,000 4,000 4,000
01 AP 2t 2| bl 8,000 4,000 4,000
< YLE > 0
o 23na 2Y LUAMFE
50,000 * 42X « 40Al 2t 8,000
HEHMSHAY| (SSHAIE A A) 327,149 314,204 12,945
A 23| 33,823 33,312 511
29| 33,823 33,312 511
101 e1214| 33,823 33,312 511
01 2 33,823 33,312 511
< =G > 0
o ANZ2Z2P$E
8,808& * 16YH = 20Al2+ » 128 33,823
24| 293,326 280,892 12,434
=34l 293,326 280,892 12,434
201 gEt24d| 288,486 277,292 11,194
01 AP 22| H| 52,502 53,192 A 690
< 2Bt ZH| > 0
o ANNIRAE2HE A28 7Y 9,900
- ARES 20,000& * 20& * 43| 1,600
- SAE2X 25,0003 * 52tA x 128 1,500
-EH S WHADE
250,000& = 1004 * 23] 5,000
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N 23AIEAE A

Mu: HESEHG| (SN LALL)
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
- &7 301& 25,0003 * 62A + 128 1,800
o NE2E EAE2F 7Y 9,160
- NI 30,000 * 635 * 123l 2,160
- st&EX 50,000& = 208tA = 43 4,000
-JIEt EABS 50,000& * 158 * 43| 3,000
o MYyJISEM 2§ #Y
700& * 25001 = 12& 2,100
o RHRI 268
- gt 300& * 108 = 128 36
- S 1,930& * 108 ~ 123 232
o SAMI, Z2E S HFAY 2>M
100,000& = 700 = 13l 700
o A& Il 7L 30,000& = 5& * 23] 300
o BZUE PY 10,000% * 1563 * 23] 300
o gxNg A7 PY U My
100,000& * 53] 500
o SE S (uHgl) 7,000& = 243l 168
<2dxE > 0
o YA 16,650
- 23 50,000& = 198 * 114 5,700
- =3 30,000& » 198 * 365¢ 10,950
< S EHl > 0
o BAE FRILR FIA
7,000& * 12¥ = 19 1,596
<YXE > 0
o )| dEgz 50,000 = 1600 = 12& 9,600
o StEA MED HdEZ
21,0003 = 50 = 123 1,260
02 2324l 235,984 224,100 11,884
<SS ZAHAM > 0
o MIIR3 18,000,000& * 128 216,000
o & otk MEE 1,000,000& » 12& 12,000
o Bz Y I AIEBE
35,0003 = 13/ & * 128 420
o dYs == 20,000& x 734 x 123 1,680
o e RFE3 1,000,000& * 23] 2,000
< Xl > 0
o Xt&F X bl 3,000,000& * 1CH 3,000
o 757 1,635.443 » 5400 104 884
203 YR =&l 4,840 3,600 1,240
02 AP 2= 640 600 40
o X9 ADITZE A 40,000 = 169 640
04 FN2IELSZAH 4,200 3,000 1,200
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A 23AIE A A
FH: HH2I LU (2HA
Sl =B CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il HimES
-/
< 30@! Olat 350,000& = 123 4,200
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